2,02; = |2,||2;| cos @
= X1 X2+ N2
= Re(£;23)

1
="+ %)

z, X 23 = |2,]|2;|sin 6

=X): = N%

= [ (£12;)

= (it - 15)

Such that

51z, = Re(£;2;) + ilm(£12;)

= (2y02;) + I(2, X 23)

= |2,|l23] cos @ + (|2, ]|2;| sin 6

= |2,||2;](cos @ + (sin )
= |2,||z;]e"

Gpds 0 oo ey dot A 1Y)
Juial! o Jall By 202

Sy x I e 3oy cross L sl
Bl By zxz



EX2:

V6 - iv2 0l hpugadh 20 200
Sol:
r=Vv6+2=2V2=2"

cosﬂnT. lhw--T -0-:6-.---30

z= '\[:.'—;(cusi;—nz + lsln:-&au:)

2kn - 2k
lir(cw-ﬁ'l' 3 -Hslnﬁ-l- 3

n  2km -1 2h')
zo-ﬁ(cnsﬁ-i- = +isin—g + ==

an 11
z,-f(ms—-t- +isin—

llrr an 23n
:,-T(cos +5+ In-ﬁ-)

EX3:
b
[xﬂzlﬂ] il
if z-—;ﬂ-r- ,-;-0-%-1

cow-:; i alno-:2£ -0--’-'--02&! . k=012...

2= (m:+2kt+ fsln-i-l- M).

3
1= (cns— + 2kw =i sln-i+ Zlnl)
scos 10 = isin 10
30 30\
= (m—-lllll—s-



EX1:

Sol:
25 = =32 = (-2)°
2m=2m=2+0!

iglmr= xi+yim2

coﬂ-:;--l , sinf=0 , O=x

s 2 = 2(cos(x + 2kn) + { sin(w + 2kx))

2% = 25(cos @ + (sin 0)®
= 25(cos 50 + sin 50)
S0 = x + 2kn

g-z(col!-l-m-l-lﬂn!--l-zkI)

k=0 -:,-Z(nu -Hslns

: A0 A0 LS Usaad 0 Aod K

2’ = =32 Wl )sae 2
Ao Uple wisen
S Sy iyl 33§ Jo pud

k=1me3, -z@:”"um'?’)-z(«-—uw ;)

k= 2= 2, = 2(cosx + sin%)

k-s-..-z(m -l-tliu%-

k-4-z.-z(m°—:-+tu’-g'!)




